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1 The cnminal law should be a tool of last resort: offences *should be created only
when absolutely necessary’. (LORD WILLIAMS OF MOSTYN)
Discuss,

7 In what circumstances can and in what circumstances should a defendant be

convicted for failing to act?

5 Bruce 1s a voung man who comes to live with his elderly aunt, Anna. Anna is
in good mental health but is badly crippled. She i1s completely dependent upon him
for her care. Discuss the offences. if any. which are committed in the following
situations:

{a) Bruce convinces Anna to make him a gift of £200 in cash in recognition

of his help.

{f) Bruce mistakenly puts a glass of vodka next to Anna’s bedside instead of
a glass of water. He later realises the mistake but does nothing to stop her drinking it.
The vodka makes her mildly sick.

(c) After an argument, Bruce suddenly leaves the house without arranging
alternative care for Anna. Anna is left without food and water for a week and she
becomes very gravely ill. At the ime of leaving the house, Bruce realises that this
may happen but is unconcerned.

(¢) As m (c), but Anna is taken to hospital. A doctor tells her that her life is in
danger and that unless she agrees to be connected to an intravenous drip she will die.
Anna professes a strong aversion to being kept in hospital, refuses the drip and dies.

{e) As in (d), except that the doctor ignores Anna’s refusal. He connects Anna
to the intravenous drip. Anna survives, though she suffers a marked psychological
disturbance as a result of her treatment 1n hospital.
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9 (i) Abbie and Martha are elderly spinster sisters who advertise a room in their house for single
male lodgers. Charles sees their advert. When the sisters meet him he informs them that he is
alone in the world. Abbie and Martha feel so sorry for him that they decide that they will put him
out of his misery by giving him some elderfiower wine laced with poison. Charles drinks the
wine and falls unconscious. The sisters, thinking that Charles is dead, persuade their nephew
Brewster to bury the body in the cellar. Whilst Brewster is digging the grave, Charles recovers
consciousness. In a desperate attempt to escape he runs towards the door. Brewster thinks that
Charles is trying to assassinate him and he hits him on the back of the head with a shovel.
Charles dies. There is medical evidence that Abbie suffers from senile dementia and that
Brewster thinks he is the Prime Minister. following his being shot in the head during a mugging.
What offences. if any, have been committed by Abbie, Martha and Brewster?
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2 Either (a) ‘The present law of murder in England and Wales is a mess. There is
both a great need to review the law of murder and every reason to believe that a
comprehensive consideration of the offence ... could yield rational and sensible conclusions
about a number of issues. These could include the elements which should comprise the
substantive offence; what elements, if any, should elevate or reduce the level of culpability ...’
(LAW COMMISSION) (2004)

2 Either (a) ‘Individual offences of homicide should exist within a graduated system
or hierarchy of offences, thus satisfying the “ladder principle”.” (LAW COMMISSION)
To what extent and how does the current law comply with this principle?

2 ‘Changing the mens rea for murder so as to require an intention to kill would restrict the
reach of the offence appropriately. The partial defences to murder should then be abolished.’
Discuss.

8 (a) Rose, who is 14, has just given birth to a son. She does not know who the father is, but suspects that
it is probably Stephen, who is 16. Rose’s parents were unaware that she was pregnant and she is reluctant
to tell them now. Not knowing what else to do, Rose decides to leave the baby outside Stephen’s house in
the middle of a cold January night. Tricia, Stephen’s mother, is awoken by the cries of the baby. She finds
the baby on the doorstep. She wakes Stephen up to show him. Stephen suspects the baby might be his.
Tricia wants to take the baby in, but Stephen threatens to beat her up if she does. They decide to leave the
baby where it is. The next morning the baby is found dead on the doorstep. He died from hypothermia.
What offences, if any, have been committed?

9. Kirsten and Lucy are good friends. Kirsten suffers from allergies and has been given pills
by her dociors. She offers some of the pills to Lucy, saying ‘these make you feel great’. Lucy
does not know what the pills are, but takes them. Lucy suffers an allergic reaction to them and
collapses. Kirsten runs away, although she realises that Lucy is seriously ill. Lucy is found by
Mark, a passer-by. He picks up her up to carry her to a hospital, but drops her. Lucy bangs her
head and dies.

‘What criminal offences, if any, have been committed?

10.  Ollie and Phil are friends who have embarked on a hunting and mountain-climbing holiday
together. During one of their climbs, Phil slips and is suspended in mid-air by the safety rope,
which is also attached to Ollie. Ollie, who is terrified that he will be pulled to his death by Phil,
cuts the rope so that Phil falls to the ground below. Phil suffers a broken back.

Ollie, who is a qualified doctor on a six month sabbatical from work, eventually reaches
Phil. Ollie covers Phil with a blanket to make him more comfortable, but leaves in a panic when
Phil’s painful moans get louder. Phil would have survived if he had received proper medical carc
for his broken back, but six hours later, unable to stand the pain any longer, he shoots himself with
his hunting rifle, and dies instantly. '

What crimes, if any, have been committed?
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3 “What is lamentable about the [Sexual Offences Act 2003] is that the legislation, if looked

at closely, has no clear message, is unprincipled and appears to pander to conservative public
opinion, moralist demands and the need for the government to be seen as “doing something”
and “getting serious about crime™. (HOHLANDER)

Discuss.

6. Angela is devoutly religious. She has been going out with Bob for several months, but has
made it clear to him that she thinks sex outside marriage is sinful. One night Angela and Bob both
get very drunk. Bob, untruthfully, says to Angela ‘God is telling me we should have sex’. She
replies ‘Let’s do it’. Bob takes this to mean she wants to have sex and he has sex with Angela.
She does not resist Bob, although she seems rather confused about what is happening. Angela is
distressed by what has happened and goes to see her friend Charles. Charles gives her a hug.
Charles is surprised to find out mid-way through the hug that is finding it sexually arousing, but
nevertheless continues with it.

‘What criminal offences, if any, have been committed?



R Sybil loves Basil, the hushand of her identical twin, Audrey. Sybil. who is staying as
a house guest with Basil and Audrey, sneaks into Basil's darkened bedroom, hoping that he
will mistake her for Audrey, have sex with her and give her the diamond necklace that she
knows he has bought for his wife. Basil, who suspects that he is HIV positive, realises that it

is Sybil, but has sex with her anyway and gives her the necklace. Sybil later discovers that
she has been infected with HIV.

The morning after Sybil and Basil have had sex, Audrey notices Sybil wearing the
necklace and immediately guesses that Sybil is having an affair with Basil. Outraged, she
begins to hit Sybil hard with her fists and to kick her legs. screaming, ‘1 am going to kill you
for this!” Sybil, who has been drinking gin since breakfast to try to steady her nerves
following the previous night’s activities, does not believe that Audrey is really strong enough
to hurt her seriously, Nevertheless, Sybil takes a heavy ornament from a side-table and hits
Audrey with it on the head with full force, knocking her unconscious. Sybil drops the
ornament and it breaks on the stone floor. Audrey suffers serious head injuries that require
hospital treatment.

Discuss the possible criminal liability arising on these facts.

8 Brunhild is a headstrong woman who has let all her friends know that she will only have sex
with a man whao is strong enough to beat her at an informal boxing match in her back garden.
Gunter, a longstanding admirer of Brunhild, enters the competition. Realising that Brunhild is
stronger than him, he asks his twin brother Siegfried to pretend to be him and box against Brunhild.
Siegfried does so and wins the boxing match against Brunhild, whose shoulder is badly bruised.
Brunhild tells Siegfried that the door to her bedroom will be open for him that night.

In the night, Gunter enters Brunhild's bedroom and kisses and fondles her. Just as they are
about to have sexual intercourse, however, Brunhild begins to doubt that the man in bed with her is
in fact stronger than she is. She therefore pushes Gunter away with a quick, violent move and
squeezes him against the wall. Feeling breathless, Gunter protests, ‘Let me go', but Brunhild says,
“You are the stronger of the two of us, so you can go any time you like, can't you?' Gunier says,
‘Look, this morning you actually fought with my twin brother. But I'm really just as strong as him.
I'm tired now but if you let me come back tomorrow night, I'll wrestle you and win.' Brunhild says,
‘See you tomorrow then', and lets him go.

The following evening Siegfried hides inside a cupboard in Brunhild's bedroom. When
Gunter returns to Brunhild's darkened bedroom, Siegfried quietly slips out of the cupboard and
helps Gunter to hold down Brunhild. Unaware that Siegfried is also there, Brunhild is now
convinced that Gunter is indeed stronger than she is. Therefore, Brunhild allows Gunter to have
sex with her.

What offences, if any, have been committed?

10 Bernard, an aspiring actor, hears a rumour that a famous movie director, Knut, is looking for
an actor to cast in a new action hero series called 'The Lizard'. Bernard desperately wants to be
cast in this role. Without invitation, he then goes to a party thrown by Knut in his mansion that
same evening. The doorman, Said, lets him in when Bernard explains that he is the actor Knut will
cast in his new show.

At the party, Bernard gets very drunk on the champagne constantly pressed into his hands
by various waiters. As a joke, he tells Cyrus, an unemployed actor also at the party who (as
Bernard knows) suffers from paranoid schizophrenia, that lizards will eat Cyrus alive later that
evening unless Cyrus stabs Freddy, another party guest. Believing him and fearing for his life,
Cyrus stabs Freddy in the upper arm and then runs away. Freddy's wound bleeds profusely but
Said, who once did a first aid course, is able to stop the bleeding with an improvised bandage.

Olga, another party guest, faints at the sight of blood spurting from Freddy's upper arm and
hits her head on the ground. She is unconscious. Knut wonders whether he should call an
ambulance for Qlga but, not wanting to spoil the party atmosphere unnecessarily, decides to carry
Olga to a guest room first to see whether she will wake up. Knut plans to check on Olga in about
10 minutes or so to see whether she is alright, but he forgets all about her. The next morning, Olga
is discovered dead. She had suffered a concussion as a result of her fall. If an ambulance had
been called at the time when Knut had planned to check on Olga, Olga's life would have been
saved.

What offences, if any, have been committed?
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1 Either (a) ‘If the offence is defined in terms of certain consequences and certain
circumstances, the mental element ought to correspond with that by referring to
those consequences or circumstances. If a mental element as to a lesser
consequence were acceptable, this would amount to constructive criminal
liability.” (ASHWORTH AND CAMPBELL)

To what extent is the phenomenon of constructive liability present in the criminal law?
Ought it to be avoided?

2 ‘“The criminal law should not intrude unnecessarily into the private lives of
adults.” (Home Office, Setting the Boundaries: Reforming the Law on Sex Offences)
Does it?



2 ‘The law regarding consensual sado-masochism should now be dealt with as
an issue of consensual sexual activity, and should not become an issue of violence
unless the level of violence or injury demands that approach and takes it out of the
sexual category.’ (MURPHY)

Discuss.

7. Fi and Gerry have been in a sexual relationship for several months. After drinking heavily
together one evening, they decide to try sado-masochistic sex. While they have intercourse, each
pours molten candle wax onto the other’s skin. In their intoxicated condition, neither of them had
anticipated that this would result in burns, but it does so. The bums to Fi are minor, but those to
Gerry are much more serious.

5. Does the criminal law deal in an appropriate way with a person who infects another with a
sexually transmissible disease?

3 When does, and when should, consent preclude criminal ligbility?

1 ‘Causation is not a single, unvarying concept to be mechanically applied without
regard to the context in which the question arises.” (LORD BINGHAM)
Consider the accuracy of this dictum in the context of the criminal law.

4 ‘There are no underlying general principles of causation. Judges simply resort to
considerations of “policy” to determine whether a particular defendant caused the specified
harm.” (CLARKSON AND KEATING)



6":DG 85

1:;:5#:
-t Yt
+ L]
TR
)
# J < L& W *$B < 4
) < , & # # < ,
# B < ="
BN |
5 t ,
5 3% * # B - 3
S | S
0t- 3 =&% / +
. % "
5 3 * # B - 3
C
* # B | 5 $
RN I 1
5 ( * # B - 3
0:+-5 $ % /N, 0# BD==
5 t &
/
#H J < , 5=t
SN |
N, 0 #< D < N, 0# BD =l o+ %
#BJ ",
N, 0# BD %%,
5 4
- !
< = Wt *$ H J < ,,=t
-t ,1 3 3
5 ., *$G + ,, " #BJ , 2 *$ . < t
N,, 0# BD ,
5 ' , % *$B  tN, WO# BD&&
5 , " *$B N, wo# BD " H* N, W0# BD
0 * 1(# 23224252
* # B |
-t &l
--3% . N =0%0 <#
+ ) N==0 <# t + == #BJ WH 4 == BED %%l
t#O*S L, , W J# B
N,,&0 E2 +8 N, %0 # BD"™ ;L o ,,&% J# B
t- 3 /N ,,=0# BD

D t-G $ A K, =BED "



( G

1 * ? K K
1) 3 * 3 ( *
( 3 $ t
3 ( $ KY) $K
.V $+ Gt 3 $ $ 1!
1G 0 1+ 24
$1 | 3 9
2 *$ 1-C $ * + 3%$ 0
40 G $ A*
oV 3 $ 0 *$2/ t 0G * kX $ 0
* 0 |
* tro * $ G
O 1 O 3 * 4 3
0 0 3 * $ o/ / * *
$ 1
*+* ! 3 * O O *
0 $ 0 0 0 |
- 0Mn S 0 1 $+ * /
* ? 1
t* 2 1 1A t 0 3% ¢
$ 0 A 2 1
D I 2+ 2 Ot 2 $
3 1/ $ ¢
| 3 $ G 1 1
A 0 3 $t | * 0 G
3 1
t 1 3 21
t t 1 * 0 |
D G 0 2 i | +- /0 $ 0 * A $
$ 0 K/'G $ 0 *% 9 0 0 1
3G 3 R |
$ +< $ O0O%K/ 3% * 0§ / $ *
$ UG *$ * 1
3 ¢ * * $1)
$ +G 11 !
i 0 1 D ;
$t $ ! 3
$ $ $ 1
1 ! 0 0 o
0 $ > 0

+0 1 3



lll l+ *

* * M
* *$ K
%1 L $ , $ 01
$ * $18 - L
* 3 1< +t10 0 *
11 |
& v 4 3 + 7?0 *$
9-1 3 * 0 S
$ l 0 | 3
* 0 0 $!
=1 $* K
++ ,(

(b) Why do you consider that the courts have traditionally been reluctant to
recogmise the existence of a defence of necessity? Are these concerns warranted?

6 ‘Necessity is a doctrine to be used sparingly to cover crises and gaps in provision
which lead to an urgent need for remedial action; it is not a major organising principle of a
modern legal system.” (SIMESTER AND SULLIVAN)

Discuss, with reference to the extent to which English criminal law currently
recognises a defence of necessity.

h ‘We may treat as a case of necessity one in which a valuable common interest
is endangered and is preserved by the sacrifice of some less valuable interest. In
such cases the gratitude of the community is due to the person who acts.’
(RADBRUCH)

Discuss.

6 ‘Duress of threats and duress of circumstances are probably instances of the
potentially wider defence of necessity... Other instances are self-defence and public and
private defence.” (LONGMORE LJ)

Discuss.

3 Either (a) Is our understanding of the general defences to criminal liability
enhanced by analysing them in terms of justifications and excuses?

5 Explain the extent to which ‘reasonableness’ does and should play a role in the law
relating to defences in criminal law.
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